Amana AG5419 12 - TERMINAL BLOCK

9
Amana Residential Amana AG5419 Washer Parts Parts Diagram 12 - TERMINAL BLOCK

Click on the part number to view part

1 Y61200 501285 Screw, No.12 X 9/16-Pla

) SEE NOTE GROUND WIRE,
2 'Y00000000 Not Available GREEN
3 20530 Screw, 10-24 x 3/8 Hex

SEE NOTE GROUND WIRE,

4 'Y00000000 Not Available GREEN — (SEE NOTE 1)

5 Y61199 3400094 Screw, 10-32 X 3/8

6 61923P 61923 Block, Terminal

7 56087 Shield, Terminal Block
SEE NOTE TERMINAL

8 'Y00000000 Not Available BLOCK BRACKET -- (SEE
PAGE 6)

9 Y00000000 Not Available SEE NOTE CABINET - (SEE

PAGE 10, KEY 13)
10 25723 27001200 Screw


http://www.pwslaundry.com/c-502768-residential-amana-ag5419-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10395291-amana-501285-washer-dryer-screw-no-12-x-9-16-pla.html
http://www.pwslaundry.com/i-10393354-amana-20530-washer-dryer-screw-10-24-x-3-8-hex.html
http://www.pwslaundry.com/i-10396534-amana-3400094-washer-dryer-screw-10-32-x-3-8.html
http://www.pwslaundry.com/i-10393378-amana-61923-washer-dryer-block-terminal.html
http://www.pwslaundry.com/i-10393480-amana-56087-washer-dryer-shield-terminal-block.html
http://www.pwslaundry.com/i-10393327-amana-27001200-washer-dryer-screw.html

	Amana AG5419 12 - TERMINAL BLOCK

